TemBreak TemBreak @ TERASAKI

Innovators in Protection Technology
J—ka1—=XTUL—HBRHEAE

Instruction Manual for Moulded

Case Circuit Breakers

=K (Types)

-BEER (Fix Types)

$50-GF  S50-GFL  S50-GFH  S100-NF  S100-NFL
S100-NFH $100-GF  $100-GFL  S100-GFH S$100-NM
H100-NF  L100-NF  E225-NF  E225-NFL E225-NFH
$225-NF  S225-NFL $225-NFH $225-GF  $225-GFL
$225-GFH H225-NF  L225-NF  S125-NF  S$125-GF
H125-NF  L125-NF  L125-PF  E250-NF  $250-NF
$250-GF  H250-NF  L250-NF  $225-NM

- A]HAEER (Adjustable Thermal Magnetic Types)
E125-NJ  $125-NJ  $125-GJ  H125-NJ  L125-NJ L125-PJ $160-NJ  S160-GJ
H160-NJ  L160-NJ  E250-NJ  S250-NJ  $250-GJ  H250-NJ L250-NJ

+&EF3X (Electronic Types)

$225-GE  $225-PE  S225-PEH H225-NE  S250-NE $250-GE  S250-PE  H250-NE
B {L# For DC use (for DC350V)

$50-GD  S100-ND S225-ND  S125-ND  $160-ND  S$250-ND

ALY FTF 1 AR ABRIRERAS
Instruction Manual for Switch Disconnectors
sk (Types) S100-NN  S125-NN  S160-NN  $225-NN  $250-NN

AFAELIFERICEZADEF T TRIIRELTT IV KFBISENTOAVERL,
RURESIEBIRWNCE->TELPBEICRL T B — U BETEZEVEEA,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

FIRSSEERAh\IL
T 547-0002

KR FEF X MNEHR6-13-47
TEL 06-6791-2756

FAX 06-6791-2732
http://www.terasaki.co.jp
kiki-info @terasaki.co.jp

2G0331SAO (KRB-03350)

TERASAKI ELECTRIC CO., LTD.
6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
http://www.terasaki.co.jp

int-sales @terasaki.co.jp

NREEDTEE

WL ER R AROFNI, LT ABEZOMO BEEE b HAEE RO T2 0%

BERCEBEENSTCERLTHSSBIRV TV, COBRHMAETIE, X2 EEIED

S ok BRI EEIELTRALTHYET,

AR RENFE- 2B BREKEN YA TR/ S B84 21 5 TTHEMD

HESN B35S,

TBRVWEBS A B BERERAPRBYVA T, FREDESXEEEZIS

ATREMEP BESNBBE,

£, ICEHLAZETH RRICL > TR EARLERICHES DUBEP HBUET,

WThHBEELARABRTT D TLTTF>TTFEL,

WETEDEE (BIICHELEBOFETZEEEHEOITEZBELTTI.)

AN FEE
ERIERAERE (ERIEL) HT-oTTE,

O=R. 28, BENER ERESX IR, HELERFRBICHBLAVTTIL,
KEDBEREREL 74, EBICBELAVSEINS BIET,

@I, I VMY UMEEDRYRURAKEEN TL—HRBICASEVEIIC
BILTTEW, MEDBREL 7)) REHEDHZUD BIET,

@Il FTL—h%uE%0 (OFF) ICLBEEL TWAWIEEERBL T TTFAL,
BEDHThS BIET,

@ 4EHTL—HDIHE 3G R DR MF I D FNBICEHELTTEV, BERT
BERTICAKDRERRELVET,

@i FhUIMEER T ML TREICRGI TSV, KEDBERELVET,

@ F U T R U RS T EHICEELHY
MHBEVESILT TN S FHADBALIESIE, %2
KEDBFNDBIET,

OXREWTL—HEEMDBEZEHE L, TL—HEE
FTETHRLTTIV, BFAUTHRBASh TV BB EBTEAL EBT—T%T
WHFNUTEBELBETIBRL T TV, A A LRI ERER T8I D HNET,

@7 —UHZPHOAIIHN BNWTT =T AN—X (IIRIEEE) 2+ FERL T TV R T

EHEVHEEDHIET,

HERENER

A Tk
QiE FERICHN EVWT TV, RED S TN HYET,
A EE
@5 B E0IThY Y GEN) LB & FEERWBRLTASASRLE | (ON)IELT

TEW XER (BRER) EEMLABER,TL—HERRLTTEV, KKD
BN HNET,

WFF - RREDEE

AN EE
@R T RIRI, BFIFEER T EANToTTEN,
ORTF s, R TL—H5EEO (OFF) ICL, ZEBLTWAENWZEERERL TITH>T T AL,
BEDOHIIAYHIET,
@i 7 Uld, EHRNAZER T LI THEULEOL TT SV KKEDRRELNET,

BZOHmOEE

- A BEBO)—NRERH> TRBEVLEVWT TSV  BEORRLEVET

c TL—HDEFEDOHN—BREIENT TN SR REERIAECEE LA,

LA ERTIERPAFIERERICEL L HAEOODEFEAL TTEL,
WEES NSV E RBEBERVBHAD BTN HIET,

[1]Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

M Mounting Precautions
(For detailed mounting dimensions, refer to the main catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and  Treane oL
after conductor connection, do not apply excessive g;s,:g:;e%% L | e o =
force to the terminals. Otherwise, a fire may result. on =

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

MHandling Precautions

A\ Warning

@Never touch terminals. Otherwise, electric shock may result.

/A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the |(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HMaintenance Precautions

/A Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

MOther Precautions

* Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

* When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

ABW—E HEELLEADIR Packaged ltems/Assembly Tools

EFRUEGET vy 713
(L125-PF, L125-PJDFCD &)

Insulator Cap for Terminal Screw : 3

(Only L125-PF, L125-PJ for FC)

JL—#h WFNYT (FCDH)

M Interpole Barrier (Only FC,
Breaker ’p p (Only FC)
219 F 2P 1
F(23AR9% 3p:2

Switch 1 4P:3
Disconnector

BRRAE (AE)
Instruction Manual : 1
(This document)

B

Ucho"

R FT 4 XAAR T RIEPAPRDH ELY) ET,
+ Switch Disconnector are only 3P and 4P.

5 Type
. Type 1 Type 2 Type 3 Type 4
%%ﬁ/ifu%ﬁ o 507100/ 125AF 100/ 125AF 1607225/ 250AF | 1607225/ 250AF
onnections/Poles ) . 5 "
| socrsio | & | MOHO | & [sie0 £o5 sons | g (160 160 HZES
Qy | EIZ S5 | Qty |50, [175.py)| QY | E20 S50 | Qty | gngElectronic ypes
P4
3P 6 | aM8X16 [6(6)| c:M8X20 | 6 | dM8X20 | 6 | d:M8X20
XEM (FC) [4p] 8 8 8 8
Front P12
Connected
3P 2 | bMAXS [2(d)] bMAX9 [ 2 | bMAXS5 | 2 | b:MAX90
P[4 g 1 1
P 4
o 3P 6 | cM8X25 [6(6)| cM8X25 | 6 | cM8X25 | 6 | cM8X25
=@M (RC) [2p [ 8 8 8 3
gear ed P2
onnecte
3P 2 | bMAXS5 [2(d)] bDMAX9 [ 2 | bMAXS5 | 2 | b:MAX90
P4 ] 1 1
AW (PMB) | 2P| 2
Plug-in 3P 2| bMAX80 [4(@)| bMAX115 [ 2| bMAX80 | 4 | b:M4XII5
Connected P4 4 4 4
ZAF (PMC)
Plug-in 3P| 2 | bMAX58  |4(4)| b:MAXI00 | 2 | bMAXE5 | 4 | bM4X100
Connected
P 4
- 3P| 6 - - 6 : 6 :
EABER) cM8X25  [6(6)| c:MBX25 C:MBX25 C:MBX25
Flush Plate | 4P | 8 8 8 8
Py 2p| 4
ppicable R4 | eMsx16 | 4 | eMsx6 | 4 | eMsX16 | 4 | eM5X16
P4 4

4
a: b: c:
d: e:
e

SN

06006

R{ELE{E Operating Instructions

TRIPPED

NRIL
Handle

- RNy TRE
Trip Button

RESET

B N2 FIVERIED

Operation Operation effort
O(OFF)= | (ON) 2N
Type1 | | (ON)= O(OFF) 28N
TRIP= O(OFF) 68N
Type2 | O(OFF)= [ (ON) 25N
Type 3 | | (ON)= O(OFF) 36N
Type 4 [ TRIP= O(OFF) 76N

4| ERIIBmMEM  Fitting Internal Accessories

B XA vF  Auxiliary Switch
MF M Type B B Type
*

T2AX00M *I T2AX00B '

EWRZX A vF  Alarm Switch
M# M Type Bf, B Type
*

T2ALOOM H T2AL00B *ﬂ

EE5ISL TREESIS L
Shunt Trip Undervoltagie Trip
k| *
T2SHO0 D T2UV00 D
* T BRDRES
* Symbols of Accessories
#HAEHE  Combination
Typet Type2,Type3,Type4|
LTI OO T LT O
2 1(ON) 1(ON)
= \H‘ = jﬂﬂg!—\
SHLUSISIL A
2| | O(oFF) O(OFF)
[] [1 111
LT LT T EEDEICHAS
° I (ON) | (ON) Tf,g,h,idVT
g THH!—\ iyl [ hhrEgIBEL <
';3 H]\D\D\ J!@ \Dt o,
5 | _owFR) O(oFF) :
o Cut off f,g,h,i along
[1 L1 [] the grooves carved
WENXA v FE— DRI 2855, £ on the back.
ICFFTREV,
In case of fitting only one auxiliary
switch, fit in left side slot.

T EREA R, DT ERCEBETSILERIL TS, JERATEL,
+ After fitting, verify the function of the Accessory.

\:Omm
/> C1-C2 D1-D2

TARE| EH LEBDAIE  Pull Out Leads on Load Side 4L Removal

\) > %< — 7 Ring Mark
A v F BRAA o F
Auxiliary Switch Alarm Switch
afEm biER alEm biEs
a contact b contact | acontact | b contact
11/AXc-14/AXa | T1/AXc-12AXb | 91/ALc- | 91/ALc-
21IAXc-24/AXa | 21/AXc-22AXb | 94/ALa | 92/ALb
EE5I4LER AERBESS LER

Shunt Trip Undervoltage Trip
power source

power source




AFMFES
Fml - REW
Breaker Mounting
Procedure for FC/RC

M4X55 mm EType 1, Type 3
A| M4X90 mm (Type 2, Type 4

1.3~17N*m

©)
_®
-
® &I
~:::15:’@’—/>4
D E)
5y9270-F
? ’ 7F/Iu;h PTate
T2FP12S* (Type1)
T2FP25S * (Type3)
T2FP25L % (Type 2, Type 4)
H
*:2, 3 or 4 (1824 Poles)

(6] &{FERfTESE 18AM Breaker Mounting Procedure for F.P ( Where Applicable )

B SHREREN RE - EAK
Conductor Connection Procedure for RC / F.P ( Where Applicable )

HREEEE Arrengment Set (0°,45°,90°)

Flat bar stud
T2RP12%S (Type 1)
T2RP25% S (Type 3)
T2RP25% L (Type 2, Type 4)
*:2, 3 or 4 (1R% Poles)

M6X20 mm
7.8~11.8N'm
M 9mm

M8X25 mm
11.8~18.6N-m

=

O] NELAGFEFERRER KAV

Solderless Terminals Mounting Procedure for FC

VIV =L AT
Solderless Terminal

T2FW12S % (Type 1)
T2FW12L % (Type 2, Type 4)

O |T2FW25L* (Type3)
°® %12, 3 or 4 (8%} Poles)
P
T2FW12S%* | T2FWI12L* | T2FW25L %
O] =17mm =20mm =20mm
|P| =50mm* | =70mm* | =120mm?
Q| @6N'm @ 10N'm | @ 19Nm
R M5X15mm | M5X20mm | M6X20mm
24~34N'm|2.4~34N"m |6.9~9.3N'm
R2

78 ES XM Conductor Connection Procedure for FC

Type 1 Type 2, Type 3, Type 4

C =16mm =22mm
D =8mm =11mm
E 8.4mm 8.4mm
F =17mm =25mm
G =8.5mm =10mm
H =5mm =7mm
| 9mm 9mm

hFIN—
Flat Bar

T2FB12%B
(Type 1)

T2FB25* B
(Type 2, Type 3, Type 4)

%12, 3 or 4 (1851 Poles)

S RAIORERRE L, T —HiEEETE TEIZEL TTE,
+Insulate all bare conductors of the line side until the breaker end.

DO Fa Lgx +v 7
(L125-PF, L125-PJD &)
Insulator Cap for Terminal Screw
(Only L125-PF, L125-PJ)

—K

Type 1

© M8X16

[

4.9~6.9N'm

i M8X25

11.8~18.6N'm

Type 2, Type 3, Type 4

© M8X20

[

7.8~12.7N'm

{@ M10X25

22.5~37.2N'm

| 2G0331SAO (KRB-03350)

FHRARE ZAl

Breaker Mounting Procedure for PM

AR
Plug-in Base %

T2PM12B* (Type 1)

T2PM25B % (Type 2, Type 3, Type 4)
*:2, 3 or 4(#B%K Poles)

M4X80 (Type 1, Type 3)
M4X115 (Type 2, Type 4)

1.3~17N*m

AR R
Plug-in Base

M4X58 (Type 1)
M4X65 (Type 3)
M4X100 (Type 2, Type 4)

1.3~17N+m

=<

T2PM12E T2PM12C (Type 1)
T2PM25E T2PM25C (Type 2, Type 3, Type 4)

c BUO U ISEUS F OBFIETITVWE T,
* When removing, remove the items in reverse order of mounting.

0 wmFN) TRAES
Interpole Barrier
Mounting Procedure

WFNUT
Interpole Barrier

T2BA12%S (Typel)
T2BA25L* S (Type 3)

T2BA25 %L (Type2, Type 4)
*:2, 3 or 4 (%} Poles)

B LB DB FIETITVET,
*When removing, remove the items in
reverse order of mounting.

2 BFH N~ R
Terminal Cover
Mounting Procedure

wWTHN-0y 7 "§

Terminal Cover Lock

3V KIVEIWSI{HESE  Handle Holder Mounting Procedure

O (OFF) i
Holding O (OFF)

(ON)

N RIVFRIVE
Handle Holder

T2HH25

AU IREUHF DB FIBTITVET,
*When removing, remove the items in reverse order of mounting.

AIFAEER - FSX Adjustable Thermal Magnetic Type / Electronic Type
(/J=ka=XFL=HD%) (For Moulded Case Circuit Breaker)

AJEREERZ  Adjustable Thermal Magnetic Type

0.8
ROMOK
6 12

Ir(xh)  h(xIn)
EFRX  Electronic Type

Char.
200225

IR R
08 % pos. 4§ 6
(%5 ®
B

125

A

=R

- AIEREET 3B R T R T T,

T2CFO0OL
ey BT
Connection Terminal Cover

T2CF12%SLN
W T2CF12% SSN
Front Connected T2CF25% SLN
o T2CF25 % SSN
T2CF25%LLN

He:%_/;ﬁg:m%%nged T2CRIZ*S
(RC/PM) T2CR25%* S
F‘/é»gll/m}ﬁ%%ﬁl T2CS12%8S
0r 90l e(rFe(s;s) erminal TZCSZS % S

*:3 or 4 (1831 Poles)

B UGBS DB FIETITVET,
*When removing, remove the items in
reverse order of mounting.

NeRVay g
Handle Lock

T2HL25

<NACRIVEy IR, | (ON),O (OFF) fLBOWTh ORI TEET,
Handle lock can be fitted in any position of | (ON) and O(OFF).
AU IREU OB FIETITVET,

*When removing, remove the items in reverse order of mounting.

Bh{ERHEMER  Time / Current Characteristic Curves
(/=ka—XFL=hD&) (For Moulded Case Circuit Breaker)

THRERISAZHERRTE T ¢ Under bar is default setting.
1) FIERZEER 2) &F3L  Electronic Type

06308 1 X

Adjustable Thermal magnetic Type

<= Adjustable /g A:125,150,175,200,225 (A)

- - - B:0.4,0.5,0.63,0.8,0.9,0.95,1 (xh) (A)
/r Adjustment Range

N 5
0.28 )
/i Adjustment Range 018 \ \ ¥
120 3! |4
101213 xhy /| 25 5 1014 xlg [}

- AIEREET 3 BS R F ER& T T,




